VO 0T 000 0

MKG-XXVI/TECHCISACM/1T/01 POST CODE / 9T g :

Write here Roll Number and Answer Sheet No. 104/14

Tl HHTE U I O g ol

Roll No. / ST

Answer Sheet No./ 3w uf5ent g1

Time Allowed : 2 hours OBJECTIVE TYPE TIER-ONE EXAMINATION  Maximum Marks : 200

frutfa a9 -

FEgis fTar-aa ufian fteam 3% : 200

the Question Bookle! Number exactly

Signature of the Invigilator with Name

Declaration by Invigilator : Declaration by Candidate :

| Certity that | have checked that the Raoll Number and the Answer| || undertake not to employ any unfair means in this exam. | have checked the Question
Sheet Number written by the Candidate or the question paper and| |Booklet Number and the Answer Sheet Number and both are identical and have been
the OMR Sheet are correct and the Answer Sheet Number matches| |correctly entered by me wherever indicated

Signature of the Candidate with Name

Read the following instructions carefully before you begin to answer the questions.
W & I G § Ued e for@ i R e g § |

IMPORTANT INSTRUCTIONS TO CANDIDATES

1. Ifthe Roll No. is a B digit No., the candidate needs to circle as
“00™ as the first 2 digits in the first 2 columns of the Roll No.

IeiEErl & e7g HEwqUl S

. AR FPEEE 8 FEE T R, A Tl S F uRe

2 FIeH § YR 2 3% & ®9 0 00" F wea #|

DO NOT OPEN THE SEAL OF THE BOOKLET

UNTIL YOU ARE TOLD TO DO SO

2. OMR Answer Sheet is enclosed in this Booklet. You must 2. W IW P& I oI Iw bt T 2 IE S IR
complete the details of Roll Number, Question Booklet No., IR H I F § TEA I IW 3 alifl """ T,
etc., on the Answer Sheet and Answer Sheet No. on the space mgﬁmmﬁ %;T%H"d‘ff;; S Gl ‘qE It g T
provided above in this Question Booklet, before you actually T T I T | S Aol ST AR L T
. : ; St 7@ s 3fvEs s o s r
start answering the questions, failing which your Answer Sheet 3. 3R, I % o 7 | EN NO 0008
. . 1 v k 2 i s 1A "'. Q!EIEJ e
will not _be evl‘alualed and you @Ii be awarded ‘ZERQ' mar T 1 O 7 W@'ﬁ\ I\ﬁﬂ:ﬂfﬁfﬁﬂ?ﬁl f s
3. A machine will read the coded information in the OMR Answer ﬁﬁaq-ﬂﬁmmmm = AT T
Sheet. In case non/wrong bubbling of Roll Number etc., the % W W AV 3.0, 3R, I = | QUESTION BOOKLET NO
machine shall reject such OMR answer sheet and hence syefia st am 3R ot MWWW |
such OMR answer sheet shall not be evaluated, PiEcaknl Iﬁm I | 1 1 1 401 45
4. Please check all the pages of the Booklet carefully. In case of 4. 38 qftae & ol H’EET wﬂ‘{ﬂ'&" T&'ﬁETUT = Te Lo
any defect, please ask the Invigilator for replacement of the '-F{ lﬂﬁﬂsaﬁ 2, 7 ffes = A e | SEAL SEAL SEAL SEAL
Booklet. fom =2 | ]
5. You must not tear off or remove any sheet from this Booklet 5. T e § IS T S A W FA | 104/14
The Answer Sheet must be handed over to the Invigilator o 2l i -WEH B | IR I nﬁ?mi
before you leave the Examination Hall. = zam |
6. All questions are compulsory and carry equal marks. 6 mft ey a2 T TS W 3 g L
7. The paper carries negative markings. For each wrong 7. ¥ U H AT A 2R | BT I o1 0.25 st we
answer 0.25 mark will be deducted. T | ﬁ
8. This Booklet contains 200 questions in all comprising the 8. ¥ qfta # Fo 200 we 2, T8 Frafafan wo mive 2
following Sections : - 2 — e o 1 T | TS WA E
. 0.0 age :
Sections Test Components Oieetions No. (3 :) W S 20 2-5
(A) i} |General Awareness 20 2-5 W E‘ e
i) | General Intelligence and i A 20 6-11 || E
. |Reasoning Abifity &, O iily | sisforfa ve Heeas arEa 20 12-15
i) Arithmetical and Numerical Ability 20 12-15 " . E 13
iv) | Hindi Language and Comprehension 20 1617 iv) | f&=dt s fi S 20 16~ 17
v) | English Language and Comprehension 20 18- v) | FIS W 3R Ay 20 18-19 E E/
(B) Post Specifx: Subject-Related (a) g aifafes fang-g=fi o 100 20 - 37
Questions 100 20-37
9. Use of Calculator/Paimtop/Laptop/Other Digital Instrument/ 9. FFR [ AW [ e | w2 el swm [ vene / ‘E
Mobile/Cell Phone/Pager is not allowed. /4 B / "ﬁ'l't HT ITGR Bl q;
10. Candidates found guity of misconduct/using unfair means inthe | 10, rrﬂan waq & Frgfea sraen va wr % oo 2l o R aneeff
Exarnination Hall will be liable for appropriate penalflegal action. Ffeam defia /Autis Fdard & o gm |
11. The manner in which different questions are to be answered halls 11. fafim wvdl & g & & fafy T EITFTH 5 718 =1 7 fﬁsn
been explained at the back of this Booklet, which you should Wﬁqéai
read carefully before actually answering the questions. 33 am % T 3 T F IW A F 9w T |
12. No Rough Work is to be done on the Answer Sheet. 12. HIE T &1 I U WAE A ¢ | B'
Go through instructions given in Page No. 40 (Back Cover Page)




MKG-XXVI/TECHCISACM/1T/01

SECTION - A
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i) General Awareness

The theme of the 2019 edition of

International Day of Sign Language is

(A) Sign Language for Peace

(B) Sign Language : Rights for All

(C) Sign Language for the Specially
Abled

(D) None of the above

The southernmost point of peninsular
India, that is, Kanyakumari, is

(A) North of Tropic of Cancer

(B) South of Equator

(C) North of Equator

(D) South of Tropic of Capricorn

The anti-malarial drug Quinine is made
from a plant. The plant is

(A) Neem

(B) Eucalyptus
(C) Cinnamon
(D) Cinchona

Pusa Yashasvi is a new potential variety
of which crop ?

(A) Cotton
(B) Wheat
(C) Coffee
(D) Rice

The pass located at the southern end of
the Nilgiri Hills in South India is called

(A) Balghat Pass
(B) Nathu La Pass
(C) Bolan Pass

(D) Palghat Pass

6.

10.

is the first Indian male
boxer to qualify for the finals of World
Boxing Championship.

(A) Shiv Thapa

(B) Akhil Kumar

(C) Amit Panghal

(D) Gaurav Bidhuri

Hypertension is the term used for
(A) Increase in Heart Rate

(B) Decrease in Heart Rate

(C) Increase in Blood Pressure
(D) Decrease in Blood Pressure

The Salal Hydroelectric Project is on the
river

(A) Chenab
(B) Jhelum
(C) Ravi
(D) Sutlej

is the capital of South

Korea.

(A) Pyongyang
(B) Seoul

(C) Panmunjom
(D) Macao

Who among the following have won the
Nobel Prize twice ?

(A) Marie Curie
(B) Robert Oppenheimer
(C) Ruskin Bond
(D) C.V.Raman
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i) W AR
. i wieheE wm fam F 2019 | 6 fova ek wfeee % e
T 5 Ty 2 ¥ YgEHaTe YEe NS gEY e €
(A) wnifer % for aerferen s (A) Tora am
(B) T s : woft = Sy (B) ¥ifaet FAT
(C) =i ¥ forw wikfirer o (C) iHa I
(D) 34T (D) T faregdh
. ST s e Rg e | 7 SR wmn R F fw
2 TR 1 WG e 2 .
(A) T @1 T IR (A) % i ¥ gf
(B) ea Yt i 2 (B) &= H i
(©) e Y 71 I (el A
(D) TR TET 1 gt (D) T & i
STt 21w P 2 | TR
(A) (A) I
(B) FHfra B) ¥em
(C) T (C) i
(D) fer (D) Haes
| o e RS Ry | HeFon ifa 6 T 2
(A) wuTE (A) T
(B) T (B) Refte
b\ (D) THS
. g e 4 At ) e 35 ey | 10 FIEARRRa A & e <1 A A g
BR 1 fora e FEar 2| sften 7
(A) sTerETe gt (A) =
(B) Ty e (B) Tse fiu=Eh
(C) srer = (C) er ate
(D) urerHrR & (D) . =
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11.

12.

13.

14.

15.

Keeladi is the historical site of which
state ?

(A) Tamil Nadu

(B) Andhra Pradesh
(C) Odisha

(D) Kerala

Three important rivers of the Indian
subcontinent have their sources near
the Mansarovar Lake in the Great
Himalayas. These rivers are

(A) Brahmaputra, Sutlej and Yamuna
(B) Indus, Jhelum and Sutlej

(C) Jhelum, Sutlej and Yamuna

(D) Brahmaputra, Indus and Sutlej

LASER is the abbreviation for

(A) Light Acceleration by Stimulated
Emission of Radiation

(B) Light Amplification by Stimulated
Emission of Radiation

(C) Light Augmentation by Stimulated

Emission of Radon

Light Arresting by Stimulated

Emission of Radiation

(D)

Which atomic power station is India’s
first completely indigenous atomic
power station ?

(A) Tarapur
(B) Kalpakkam
(C) Kaiga

(D) Kudankulam

India became member of the United
Nations in which year ?

(A) 1947

(B) 1950

(C) 1949

(D) 1945

16.

17.

18.

19.

20.

Which wing of the Indian Armed Forces
has recently conducted an exercise
‘Changthang Prahar’ in East Ladhak ?

(A) Border Security Forces
(B) Indian Air Force

(C) Indian Army

(D) Indian Navy

Which Indian Prime Minister signed the
Tashkent Declaration with Pakistan ?

(A) Indira Gandhi

(B) Lal Bahadur Shastri
(C) Jawaharlal Nehru
(D) Rajiv Gandhi

Who won the 2019 US open tennis
men's singles title ?

(A) Novak Djokovic

(B) Rafael Nadal

(C) Daniil Medvedev

(D) Roger Federer

In which among the following cases,
the Supreme Court of India propounded
the theory of basic structure of the
Constitution ?

(A) Minerva Mills V. Union of India
(B) S. R. Bommai V. Union of India

(C) Keshavanand Bharti V. State of

Kerala
(D) 1. R.Coelnho V. State of Tamil Nadu

The highest mountain peak in south
India is

(A) Anamudi

(B8) Mukarta

(C) Doddabetta

(D) Aravallis
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1.

12.

13.

14.

15.

Frarel v U1 T Wfefs e 2 7
(A) affeATg

(B) 3TMYweT

(C) =fifewm

(D)

TeH feurem d wmEter | & e

IGTHATA W IUHETEY i HEeaqol
i dHE, 9 8

(A) SEIY, Feerst 37 TG

(B) Ty, sem iR |aers

(C) e, Taers 3 Ig

(D) w&ga, &y o Taes

LASER % fefu aféqearen 2
(A) WTE Ufarei aTE Theies uHeE
AT HeurH

(B) TEe Ty a8 WIS
w31 fewm

(C) W3 IATHIIM o3 WIReide THyH
ATE &

(D) sz e A Riepeies uivH 3%
feweH

FHITET Y] IfFq RYA JRA 1 I8l
ofar: St gy wif Ry 2 7

(A) ARTYT

(B) SedanH

(C) &m

(D) FegeH

fore o W HgFa T &l 5= &1 7
(A) 1947
(B) 1950
(C) 1949
(D) 1945

16.

W

18.

19.

20.
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T i T g smised i@
3T AT Ver g& wera | g ?
(A) HiFTgEn ad

(B) WRAH 91y 5

(C) W T

(D) et T

g g yamEsht 3 e % 9@y
AITERS HTYOT T EA1&H o ?

(A) sfeT mieh

(B) TS SETEL YT

(C) SaEd H8E

DREERIC

T 2019 JUE 39 9 =1 779 THel
Tgars sfran 7

(A) FrETE SEifaH

(B) e ST

(C) =< deaes

(D) TSR %X

frafofiaa @ @ g wmet 8, wRa % ar=
AT = e S gervd ST o HaH
&1 gferare fe=m ?

(A) Timat fieg sam v 59

(B) TH. W, SIS 519 HNd ¥9

(C) FIEHE W T e TS

(D) 3E. TR, FITA! FAH A TST

2f&0T YR 1 I=Ia9 gad R
(A) ST

(B) gl

(C) ars

(D) =Y
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22,

23.

24,

100 000 )OO0 0

ii) General Intelligence and Reasoning Ability

MATHEMATICS is related to
NUMEROLOGY in the same way as
ASTRONOMY is related to

(A) SCIENCE
(B) ASTROLOGY
(C) PHILOSOPHY
(D) PLANETS

Select the answer from the choices
given below to continue the series.

DILQTYBG?
(A) H
(B) I
€ O
D) J

In the following sequence some letters
are missing which are given in that order
as one of the four alternatives. Find the
correct alternative.

a_aba_ca_aac_ba
(A) caba
(B) acac
(C) abab
(D) abca

Choose an appropriate number to
replace the question mark from the
given alternative.

48, 24, 72, 36, 108, ?
(A) 110
B) 115
(C) 121
(D) 54

25.

26.

27:

Find the missing number in the figure.

2
4
5
30

P& O

W~

18

(A) 42
(B) 43
(C) 32
(D) 33

If LODES iscodedas 4632 1, how will
you code the word DOES ?

(A) 4631
(B) 3621
(C) 3261
(D) 3162

In a certain coding system, 8 16 3 2 1
means ‘The brown dog frightened the
cat’, 64 8 5 1 means ‘The frightened cat
ran away’, 7 6 2 1 means ‘The cat was
brown’, 3 4 1 means ‘The dog ran’.

What is the code for ‘The dog was
frightened’ ?

(A) 8263
(B) 8731
(C) 5438
(D) None of these
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22.

23.

24,
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ii) W hgHT AUt Alfehes Araw

TfUTg RN © I YR gatdd 8, o
T G Y gafd B
(A) fagm

(B) Ifasfag™

(C) SYHST

(D) &=

i F 9T @ F foe A9 Ry M
farerec 3 @ W SR g

D I 1L QY B-G?

(A) H

B) |

(C) O

(D) J

freafafea Fu d 5o R ga &, 1\
FrAfumUEiNi o st g s o
21 & fasew gy
a_aba_ca_aac_ba

(A)
(B)
(C)
(D)

caba

acac
abab
abca

few T et B @ wva o 1 witeniua w3
< forg g e g

48, 24, 72, 36, 108, ?

(A) 110

(8) 115

() 121

(D) 54

25.

26.

27,

o o e AR

5
E
2

(630 B~ H\b]

| W~

—h

8 | 30

(A) 42
(B) 43
(C) 32
(D) 33

e LODES #1 #2463 2 1 &, a1 39
¥IsC DOES F1 8 FHeasg il ?

(A) 4631
(B) 3621
(C) 3261
(D) 3162

U 2 U H, 81632 1FH1 42 The
brown dog frightened the cat’, 64 8 5 1
1 319 ® ‘The frightened cat ran away’,
7 6 2 1 %1 314 ? ‘The cat was brown’,
34 1 %1 3794 ® ‘The dog ran’.

‘The dog was frightened’ % TeTt =11 %2
g ?

(A) 8263
(B) 8731
(C) 5438

(D) T8 A g e
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28.

29.

30.

i. P+ Q means P is brother of Q.

i. P-Q means Q is father of P.

ii. P x Q means Q is mother of P.

iv. P+ Q means P is sister of Q.
Which of the following means M is
maternal uncle of R ?

(A) RxN+M

(B) M+NxR

(C) M=NxT+R

(D) Can not be determined

Rama ranks 16" from the top and
15t from the bottom in a certain
examination. How many students are
there in the class ?

(A) 30
(B) 31
(C) 32
(D) 33

Binny and Chinky teach different
subjects in a class. Binny teaches in the
morning and the noon on the alternate
day starting from Monday. Chinky
teaches in morning on Tuesday and
Thursday and in the noon on Saturday
and Sunday. If a particular month of
30 days starts on Wednesday then
Binny and Chinky would meet each
other on how many days ?

(A) 7
(B) 10
©€) °
(D) None of these

31.

32.

33.

34.

If > stands for division, v stands for
muiltiplications, < stands for addition,
» stands for subtraction, — stands for
greater than, x stands for less than,
+ stands for equal to then, which of the
following statement is true ?
(A) 12>6/A3<2<8-20
(B) 12A6<3>2x8x20
(C) 12>6x3<2A8+20
(D) 12x6>3A2<8+20

Pointing to the woman in the picture,
Rajiv said, “her mother has only one
grandchild whose mother is my wife”.
How is the woman in the picture related
to Rajiv ?

(A) Cousin

(B) Wife

(C) Sister

(D) Data inadequate

Six members of a family namely
A, B, C, D, E and F are travelling
together. B is the son of C but C is not
the mother of B. A and C are married
couple, E is the brother of C. D is the
daughter of A. F is the brother of B.
How many male members are there in
the family ?
(A) 3

(C) 4

(B) 2
(D) 1

P,Q R, S, T, U, Vand W are sitting
in a row facing North. P is 4" to the
right of T. W is fourth to the left of S.
R and U which are not at the ends are
neighbours of Q and T respectively.
W is next to the left of P and P is the
neighbour of Q, who are sitting at the
extreme ends ?
(A) P, S

(C) S,R

B) S, T
(D) T,U
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28.

29.

30.

i. P+Q@ 3 P Qe R
i. P-Q@® 2 ‘Q P & fuan gl
ii. PxQ® 32 ‘Q ‘P AW g
iv. P+Q%F 34 2P ‘Q F T 2l
frafafea & @ fegs s1d M, R =1
[T & ?

(A) RxN =M

(B) M+NxR

(C) M=NxT+R

(D) THaifea =& foran st v

9 1 UF G0E § FR Y 16 9 UH B
AR A= ¥ 15 97 wE 2| war d e
faemefi & ?

(A) 30

(B) 31

(C) 32

(D) 33

forsht 3fn et e e 9 o - ot forg wercht
| SR ¥ E F 0 {3 Siew w A
GoTE IR Qe | forelt geredt 21 feeht Frera
% gee 3R TRER F gue 99 IHER 3R
ToaR i e H erdt #1 4fs @ 30 A =
HTE THaR FI P& B 8, @ ot o foeh
TF-gR ¥ for fo foreitt 2

(A) 7

(B) 10

(C) 9

(D) T ® IS el

31.

32.

33.

34.
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3ﬁ>ﬁﬂm%§,v'ﬂuﬂ%§,<w%§,
ARG, - @ FE 3G, x & B,
+ SR ¥ 3 T 2, @ Pt &
FH-TFHATAE 2

(A) 12>6A3<2<8-20

(B) 12A6<3>2x8x20

(C) 12>6x3<2A8+20

(D) 12x6>3A2<8+20

ws fom 1 v 3fia #t TR 39 A q
TSita 3 e, “gEeh! w1 fad o qrar
R formeht gran 94 ueft 21 Tesame oiva
Tsha @ form v gafta 2 2

(A) == 581

(B) Teit

(C) =&

(D) IATeFeT A=

& IER # B: G A, B, C, D, E 3R F
T WY A1 F T 2| B, CH T 7, Wy
C, B i wrar & 21 A 31K C foanfea gmet €
E,CHYERID, AFIERIF, BHFIWE
2| ufEr 3 fopa oy waey § 2

(A) 38 B) 2

C) 4 (D) 1

P,Q,R,S,T,U, V3R WIRH A TE
e G Ul H SS | P, TH e g1 8|
W, S % ard =it 2| R 3R U St gH1 81
WAS S FA: QAN TFH = B W, P
%F W10 3T & 3R P, Q T S 21 S

fega slad da1 2
(A) P, S B) S, T
(C) S,R D) T,U
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35.

36.

37.

-10-

Four ladies A, B, C and D and four
gentlemen E, F, G and H are sitting in a
circle around a table facing each other.
No two ladies or gentlemen are sitting
side by side. C who is sitting between
GandE isfacing D. F is between D and A
and facing G. H is to the right of B.
Who is sitting left of A ?

(A) E
(B) F
€) G
(D) H

A girl leaves from her home. She first
walks 30 mts. in North-West direction
and then 30 mts. in South-West direction.
Next, she walks 30 mts. in South-East
direction. Finally, she turns towards her
house. In which direction is she moving ?

(A) North-East
(B) North-West
(C) South-West
(D) South-East

A villager went to meet his uncle in
another village situated 5 km away
in the North-East direction of his own
village. From there he came to meet his
father-in-law living in a village situated
4 km in the South of his uncle’s village.
How far away and in what direction is
he now ?

(A) 3 km in the North
(B) 3 km in the East
(C) 4 km in the East
(D) 4 km in the West

OO 0O 0

38.

39.

40.

Statements : All students are boys.
No boy is dull.

Conclusions | : There are no girls in
the class.

Il : No student is dull.

If the given statements are true then
which of the above conclusions definitely
follows ?

(A) Only |
(B) Only Il
(C) Eitherlorll
(D) Both land Il

No man is a lion.

Ram is a man.
Conclusions | : Ram is not a lion.

Il: All men are not Ram.

Statements :

If the given statements are true then
which of the above conclusions definitely
follows ?

(A) Only |

(B) Only I

(C) Bothlandll
(D) Neither | nor Il

Choose the correct alternative that will
continue the same pattern and replace
the question mark in the series.

2,3,5,7,11,2,17
(A) 12
(B) 13
(C) 14
(D) 15
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35.

36.

37.

=11-

=R "fgemd A, B, C 3R D 3R 91 3oy
E, F, G 3R H U g &l 3TR @ ek U
TS % IR AR A H 43§ | IS ot O g
T AREd T HY T 438 | CH R G
3t E % 9 1 & e g@ D i s R |
F, D3R A& &= & ® 3R G it SR g@
BIH,BFAMR IAF L HATIR ?
(A) E
(B) F
C) G
(D) H

TS TSH M W Y Fwadt | 9w 9w
30 e Iw-ufeam fosn & werdt € 3k
T gfeqor-afsem fewm & 30 et Tt # |
fo, I afior-gd faem & 30 wfiex e
? | 37dq: 9% o194 T R S ? | '
frefmise @R ?

(A) SE-g
(B) IW-ufvam
(C) aferur-ufsm
(D) afor-ud

wsh urior g e § I =ren § fied
ST 8, S 3H AU g ¥ IW-d eI
dsfrfi g2 I a T F W F
aferor d 4 foeft it g8t  fevrd o T
TTig § 379 e S @ | 9% et g R
R femdg ?

(A) ST H 3 feret
(B) g § 3 fordt
(C) T H 4fwh
(D) ufvem ¥ 4 foprdi

38.

39.

40.
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YT . ooft femeff e 2 |
. PEASH GG AL L |
Ferd | . FandsE iR
o o fremeff gy A R

I fRumer o, s =g g
FH-a1 Ffvea €9 @ STEo Far € 7

(A) Fad |
(B) ohad I
(C) Fmatiamll
(D) 1311 gH
HUA . IS AfFT IR R |

| mwmaEfm
s | : THEHIRAER

o ot safFaai e AE #

g fou T hem T B, ot 39 (eni 5 |
FH-a1 Ffvad 9 8 ST Far & ?
(A) Faa |

(B) wad I

(C) | 3R Il et

(D) T

Tet fompeq e St & Y = 9 @
3 sjEen 7 oA forg ot wfcreenf &1 |
2,3,57,11,2,17

(A) 12

(B) 13

(C) 14

(D) 15
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41.

42.

-12-

Which among the following is an
irrational number ?

22 J3
A = B) -
J2
(C) B (D) 0

If 13 is the HCF of 2 numbers whose
product is 1690, then their LCM is

(A) 13

(B) 1300
(C) 1690
(D) 130

The least number among
(3
(23 )2, 2(32), 2i2 )’ (32)2 i

© (&)
(D) None of these

81) 7
Value of [—-] is
64

512
729

729
512

(A)

(B)

(C)

D)

©|m o|w

W10 00O O

iii) Arithmetical and Numerical Ability

45,

46.

47.

48.

49.

The sum of first 10 terms of the
sequence 1,4, 7, ... is

(A) 150

(B) 149

(C) 145

(D) None of these

The value of k if k, k + 5, 5k are in
A.P.is

(A) 1
B) %%

© %

(D) 8

Which term of the sequence 5, 14, 23, ....
is 2217

(A) 11

(B) 21

(C) 25

(D) None of these

A quadratic equation whose roots are
—2and 2 is

(A) X2 +4=0
(B) x2—2x-2=0
(C) x2—-4=0
(D) x2+2x-2=0

% =B+ then x o=
(A) 2 :
(B) 2v2
(C) V2

(D) None of these
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41

42

43.
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iii) atEnTUT v ST araa

. Frafeiea 1 @ St we suftg gen e ?
2 3

7

(©) % (D) O

(A)

. A 13, 2 Tt o a2 e e
1690 2, T 371 &89 2
(A) 13
(B) 1300
(C) 1690
(D) 130

(22, 2%, 2%, (32 H i B
T ?
A (2°)

© ()
(D) 378 | =13 T

81) %
(__] FIAE 2
64

512
729
729

(Bl

(A)

(©)

(D)

| o |

45.

46.

47.

48.

49.

G 1, 4,7, ... % T8 10 921 1 F07 2
(A) 150
(B) 149
(C) 145

(D) ¥ & %I T

IR k, k + 5, 5k TR Aoft F &, d k =
oA 2

(A) 1

®) %

©) %%
(D) 3

TG 5, 14, 23, ... FIHTE19E 221 B ?
(A) 11
(B) 21
(C) 25

(D) ¥ 9IS TE

T feama aefte e ga —2 it 2 2,
LIk

(A) x2+4=0

(B) x2-2x-2=0

(€) X®-4=0

(D) x2+2x-2=0

Hﬁx=x/§+1?ﬁ-x+—1-:
(A) 2 ”
(B) 2v2

) V2

(D) ¥ A FE T
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50.

51.

52.

53.

54.

55.

If Rs. 800 yields Rs. 96 as simple
interest in 2 years, then the rate of
simple interest is (in %)

(A) 5% (B) 7%

(C) 4.5% (D) 6%

In a right angled triangle PQR with right
angleatQ, if PQ=5, PR+ RQ=25then
PR =

(A) 12
(C) 14

(B) 13
(D) None of these

If area of a circle is twice the perimeter
of the same circle then radius of the
circle is

) 4
B) 2
©) V2

(D) None of these

The volume of a cube of side length
3 units is

(A) 9 sq. units

(B) 27 cubic units
(C) 18 cubic units
(D) None of these

The arithmetic mean of first 15 natural
numbers is

(A) 16
(©) 8

(B) 9
(D) None of these

(secA +tan A) (1 —sin A) =
(A) sinA

(B) sec A

(C) cosA

(D) cosec A

O L 0 S

56.

57.

58.

59.

60.

Sin (90° - A) =
(A) cosec A
(B) sinA

(C) tanA

(D) cos A

The cost price of an article which is sold
for Rs. 224 at a profit of 12% is

(A) Rs.210
(B) Rs. 200
(C) Rs.248
(D) None of these

Rs. 600 is divided among A and B in
the ratio 2 : 3, the amount received by
Bis

(A) Rs. 240

(B) Rs. 300

(C) Rs. 360

(D) None of these

What percent is 20 paise of Re. 1 ?
(A) 5%

(B) 40%

(C) 20%

(D) None of these

If 2 numbers are in the ratio 7 : 5 and
their difference is 12, then the numbers
are

(A) 42,30
(B) 52,40
(C) 22,10
(D) None of these
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52.

53.

55.
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gfe %. 800 ¥ 2 I81 H HIYRY s W
%. 96 Tyerd €, o ETURY s9e i o
(%H) 2

(A) 5% (B) 7%

(C) 4.5% (D) 6%

T T Bye PQR H TWsiv Q W R,
Ie PQ =5, PR +RQ=25d PR =
(A) 12 (B) 13

(C) 14 (D) T | F1$ T
a2 O g9 1 Sk 3 g9 < oRfrE |
2T 7, o g o s @

(A) 4

(B) 2

© V2

(D) ¥H & g el

i1 3 FHISATS! U T I T &
(A) 9 5T

(B) 27 W 3TS

(C) 1854 3&TE

(D) ¥ & I e

T 15 ST H@ATST I SR
HTEF §

(A) 16 B) 9

©) 8 (D) =8 ¥ #IE T

(sec A +tan A) (1 —sin A) =
(A) sin A

(B) secA

(C) cos A

(D) cosec A

56.

57.

58.

50.

60.
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Sin (90° - A) =
(A) cosec A
(B) sinA

(C) tan A

(D) cos A

224 %. | 12% W T st Haelt a%g
F1 59 g B
(A) ®. 210
(B) ®.200
(C) %.248

(D) T @ s TE

%. 600, A 3R B & &9 2 : 3% 31U 1§
e 9ITd €, B g0 9T Ui @

(A) ¥.240

(B) %.300

(C) ®. 360

(D) =99 ¥ #Ig e

20 ¥F 1 Fq¢ 1 fepa afawa @ 7
(A) 5%

(B) 40%

(C) 20%

(D) ¥ & S &

Ife 3 ATt 7 : 5% T | & S IAH
AT 12 8, o HEAmd R

(A) 42,30

(B) 52,40

©) 22,10

(D) T @ HiE e
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

2= v stk
fore w72 SR G A1 HelE T A | g6, FrferRed § & Fe s qeam TE 2 7
Y 2, W FEd ¢l (A) Ta
(A) T99 FRH (B) i
(B) hal FRF (©) TH
(C) T Hreh i gt
(D) TEIEE FRE o,
67. IX % AEHd €Y &

o9 1 faretrmede vree @ (A) T
(A) s=t

(B) &=t
(B) W (©) sfa
© T (D) T
(D) a=H

68. Frfafaa # & e wisg gieerm & wim

FHITET Y5 WFF T GAFa= 8 ? 8 B 7
(A) JETS (A) =TTt
(B) s (B) =
(C) ¥ (C) =<t
(D) I (D) 9t
w1g =1 faeim wree ® 69. 'feueRr wee w1 AfR-fa=Re 2
(A) == (A) e+ 73
(B) WTHfceh (B) femm + 1™
(C) et (C) Temm + e
(D) Z&t (D) f&w + ™
o a1oam =501 ot fe & 70. TINT wee 1 Afy foede
(A) SR (A) @ +3Fm
(B) =W (B) &% +Fm
(C) =wuft (C) |+ 3
(D) ¥ & IS T (D) &= + I



7,

T2

73.

74.

75,

76.

=

e foFre TaaT & |
(A) Fgar=a

(B) STqar=
(C) FHaT=H

(D) HEar=

354 ey 2@t o)
(A) TTHT AT
(B) Ui kT

(C) T~ YghreT
(D) wfeg g

3G Y9 9 T 6|
(A) e e
(B) e fsbm

(C) =g fama
(D) =rs e

T8 He 3T TR il TTer Ferad o @
(A) TE T 3 1 HEW BT

(B) 19+ =t 98 AfFaai # fimn

(C) 319t qryar | 31feras wm i 3tz
(D) ¥ & F13 T

oy st <h foreht fofera st s e @
(A) &4

(B) IT=qTRY

(C) =fafy

(D) e

?—rg+3fﬁ=as@
(A) TorER

(B) Ffadf

(C) 37fe |fY
(D) < EfYy

T

78.

79.

80.
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v) English Language and Comprehension

ST et 3R Ay

Fill in the blanks in the following sentences
using the appropriate articles from among the
choices given below them.

81. You have to cross Persian

Gulf to go to Dubai.
(A) a

(B) the

(C) an

(D) no article required

82. Robinson is
(A) an
) from

) a

(B
(C
(D) no article required

European.

Fillin the blanks in the following sentences with
the appropriate prepositions from among the
choices given below them.

83. The property should be divided

the two sisters.
(A) across
(B) among
(C) besides
(D) between

Can you transiate this
English.
(A) at

(C) with

(B) into
(D) across

85. We met Sundays.
(A) at

(B) beside

(C) on

(D) by

Fill in the blank using the correct tense form
of the verbs from among the choices given
below them.

86. Students
the last one month.

(A) studying

(B) has been studying
(C) have been studying
(D) has studied

Shakespeare for

Add suitable question tags to the following
statements from among the choices given
below them.

87. Sammathi dived into the stream

fearlessly, ?
(A) was she (B) has she
(C) didn’t she (D) did she

88. Casper doesn't like a bath, ?
(A) does he (B) doesn'’t he
(C) ishe (D) isn't he

Fill in the blanks with the appropriate form of
the verbs from among the choices given below
them.

89. Each one of them given a
prize yesterday.
(A) was (B) be
(C) are (D) were

90. Slow and steady the race.
(A) win (B) will win
(C) wins (D) had won
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Direction for questions 91 and 92 : Which
of the phrases given below should replace
the underlined phrase given in the following
sentences to make it meaningful and
grammatically correct ?

91. He will never get through as neither is
he intelligent or hardworking.

(A) he neither is intelligent nor
hardworking
he is neither intelligent nor
hardworking
neither he is intelligent nor
hardworking

he is neither intelligent or
hardworking

(B)
(C)

(D)

92. Privatization has come not just at the

expense of consumers as well as atthe
expense of workers.

but at the expense of workers even
as well as at the expense of workers
but at the expense of workers as well

even at the expense of workers as
well

Choose the correct synonym of the underlined
in each sentence from the alternatives given
below it.

93. A dozen gentlemen were engaged in a
warm dispute.

(A) speech
(C) argument

(B) conversation
(D) discussion

94. One of the gentlemen thought he

possessed all the merit of the English
nation.

(A) capacity
(C) worthiness

(B) wealth
(D) skill
-19-
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Fill in the blanks with the appropriate antonyms
of the words underlined from among the
choices given below them.

95. The and the old should
live together to have a better perspective
of life.

(A) elder
(C) junior

(B) older
(D) young

96. Do you feel comfortable or in
your new pair of shoes ?

(A) discomfortable

(B) uncomfortable

(C) imcomfortable

(D) ill-comfortable

Each of these questions presents a word
that may have been spelt incorrectly. From
the choices provided, pick the rightly spelt
word and mark the letter of that word as the
answer.

97. Encoverage

(A) encourage (B) encorrage

(C) encoveraj (D) encourige
98. Adekwate

(A) adekwat (B) adecuate

(C) adequate (D) adiquate

Fill in the blanks with suitable conjunctions from
among the choices given below them.

99. He not only passed won a
scholarship.
(A) yet (B) still
(C) but also (D) and also

100. He had hardly reached the station
it began to rain.

(A) then (B) than
(C) when (D) by the time
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101.

102.

103.

104.

105.
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SECTION-B

Post Specific Subject-Related Questions

The modern four stroke petrol engine
works on which cycle ?

(A) Diesel cycle

(B) Constant pressure cycle
(C) Steam cycle

(D) Oftto-cycle

The piston is attached to the connecting
rod by

(A) Crank shaft
(C) Piston pin

(B) Cam shaft
(D) Crank pin

The function of the connecting rod is to
convert linear motion of the piston into
rotary motion of

(A) Crank web
(B) Drop arm

(C) Cam shaft
(D) Crank shaft

In four stroke engines how many
rotations of the crank shaft does the
cam shaft rotates ?

(A) Half rotation
(B) One rotation
(C) Two rotations
(D) Four rotations

One of the reason for noisy valve
operation is

(A) Sticky valves

(B) Wrongly adjusted tappet
(C) Lean mixture

(D) Detonation

106.

107.

108.

109.

110.

The valve face angle for the exhaust
valve is generally kept

(A) 60°
(B) 15°
(C) 45°
(D) 30°

In motor cycles, scooters, mopeds the
type of crank shaft used is of

(A) Single piece type
(B) Built in type

(C) Casttype

(D) Journal type

The property of lubricating oil due to
which the oil particles stick with the
metal surfaces is called

(A) Neutralisation
(B) Chemical stability
(C) Film strength
(D) Adhesiveness

The connecting rods are generally of
the following form

(A) Square section

(B) “C” section

(C) “I" beam cross section
(D) Round section

The process by which the crank shaft
is produced

(A) Welding

(B) Pressing

(C) Forged or cast

(D) Dieing
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101.

102.

103.

104.

105.
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(A) TS 9%
(B) Faazm ==
(C) ¥ =

(D) el =%

IESE RIS ERE )
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(A) S TR
(C) Toea fim

o g el

(B) ¥ IR
(D) e fom
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(A) S I

(B) g4 3w

(C) ¥\ I

(D) ek ITHE
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(A) o7 ol

(B) T U

(C) Ao

(D) =R EOH
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(B) TTeTa ek ¥ THIGING S

(C) uaa Tz

(D) forewie

106.

107.

108.

109.

110.
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(A) 60°
(B) 15°
(C) 45°
(D) 30°
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111

112

113.

114.

115.

116.

-22.

The most commonly used valve in an
automobile engine is

(A) Reed valve
(B) Rotary valve
(C) Sleeve valve
(D) Poppet valve

The type of fuel feed system used in
motor cycles is

(A) Vacuum system
(B) Pump system

(C) Gravity feed system
(D) Pressure system

One of the reason for the flooding of
carburettor is

(A) Damaged idle port

(B) Less fuel pressure

(C) Blocked jet

(D) Punctured and dirty valve seat

The carburettor was invented by
the scientist Donat Banki and Janos
Csonka in
(A) 1839
(C) 1892

(B) 1873
(D) 1893

The acid used in automobile lead acid
battery is

(A) Sulphuric acid

(B) Citric acid

(C) Hydrochloric acid

(D) Nitric acid

If the lead acid battery is kept standing
gets discharged by itself and this
phenomenon is called

(A) Cracked container
(B) Sulphation

(C) Self-discharge
(D) Deterioration

118.

119.

120.

121.

122.

A0 0

117.

Which of the following material is used
for contact breaker points ?

(A) Tungsten
(B) Steel
(C) Copper
(D) Plastic

The capacity of an automotive engine
condenser is approximately

(A) 2 micro farads
(B) 2.5 micro farads
(C) 25 micro farads
(D) 0.25 micro farads

A French engineer Captain Nicholas
Cugnot built the first road vehicle
propelled by its own power in the year

(A) 1769 (B) 1796
(C) 1679 (D) 1976

The birth place of automobile is
(A) Australia
(B) England
(C) German
(D) America

The first motor car appeared in India in
the year

(A) 1988
(C) 1898

(B) 1868
(D) 1928

The upper most part of the piston which
is subjected to hot burning gases with
high temperature is called

(A) Piston head
(B) Piston boss
(C) Piston skirt
(D) Piston pin
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123.

124.

125.

126.

127.

128.

The modern four stroke petrol engine
works on Otto-cycle which was introduced
in practical form by a German scientist
Otto in the year
(A) 1862
(C) 1618

(B) 1876
(D) 1868

The Diesel cycle was introduced by
(A) Captain Nicholas

(B) Henry Ford

(C) Rudolf Diesel

(D) Charles E. Dureya

The diesel engines of heavy motor vehicles
operates on which of the cycle ?

(A) Constant volume cycle
(B) Constant pressure cycle
(C) Kelvins cycle

(D) Constant heat cycle

Generally the amount of piston
clearance is

(A) 0.15 mm to 0.25 mm
(B) 0.20 mm to 0.50 mm
(C) 0.10 mm to 0.38 mm
(D) 0.025 mm to 0.100 mm

The material of the piston ring is
(A) Fine grained alloy cast iron

(B) Fine grained alloy of aluminium
(C) Fine grained alloy of steel

(D) Fine grained alloy mild steel

When the piston ring split joints are
open, the outer diameter of the ring is
somewhat

(A) Larger than cylinder bore
(B) Equals to the cylinder bore
(C) Smaller than cylinder bore
(D) Wider than cylinder bore

130.

131.

132.

138.

134.

129.

The gap between the ring and the
groove in the piston is measured with
(A) Screw gauge

(B) Pitch gauge

(C) Dial gauge

(D) Feeler gauge

The material of the connecting rod is
(A) Forged silicon

(B) Forged manganese

(C) Forged steel

(D) Forged stainless steel

The part of the crank shaft inside the
main bearing is called as

(A) Crank through
(B) Crank web
(C) Crank pin
(D) Main journal

In case of over head valve mechanism
the tappet clearance is in between valve
stem and

(A) Cam shaft
(B) Push rod
(C) Rocker arm

(D) Tappet

Diesel cycle was introduced in the year
(A) 1877 (B) 1895

(C) 1897 (D) 1879

In air cooled engines, to give large
radiating surface to increase the rate
of cooling the cylinder barrels are
equipped with

(A) Fans

(B) Pump

(C) Impelier

(D) Metal fins
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Wankel engine is nothing but
(A) Reciprocating engine
(B) Rotary engine

(C) Sterling engine

(D) V8 engine

The measure of the rate at which they
can do work

(A) Work
(B) Energy
(C) Horse power
(D) Effort

The power which the engine delivers
can be measured by the instrument

(A) Brake tester
(B) Engine tester
(C) Wheel balancer
(D) Dynamometer

One horse power is equals to
(A) 70 m.kg/sec.
(B) 75 m.kg/sec.
(C) 71 m.kg/sec.
(D) 72 m.kg/sec.

The power which the engine actually
delivers to do outside work is called

(A) I.H.P. (B) B.H.P.
(C) F.H.P. (D) P.L.A.N.

The ring type formation is caused by the
cylinder wall wearing from ring travel
just above the top of the compression
ring is called

(A) Wedge

(B) Ovality

(C) Ridge

(D) Taper

0RO O O

141.

142.

143.

144,

145.

Wear of the bearing and journal gives
the knock which is caused by

(A) Big end cap may be loose
(B) Leakage of coolant

(C) Worn piston rings

(D) Loose main bearing

A two stroke diesel engine was built by
(A) Dugald Clerk

(B) Rudolf Diesel

(C) Captain Cugnot

(D) Oliver Evans

The cylinder also tends to wear due to
the side thrust of the piston as it moves
down in the cylinder on the power
stroke, the type of wear is

(A) lrregular wear
(B) Parallel wear

(C) Oval shaped wear
(D) Taper wear

The sudden and violent knocking
experienced inside the engine cylinder
is called

(A) Volatility

(B) Antiknock
(C) Detonation
(D) Preignition

The antiknock value of fuel is measured in
(A) Octane number

(B) Cetane number

(C) Heptane number

(D) Pentene number
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The cetane number of diesel oil is
(A) CyoHay (B) CygHay
(C) CioHas (D) Cy4Hzy

The change of state of fuel from liquid
to vapour is called

(A) Vaporization
(B) Carburation
(C) Atomization
(D) Absorption

In two stroke cycle engines the type of
scavenging generally adopted is

(A) Uniflow scavenging

(B) Backflow scavenging
(C) Loopflow scavenging
(D) Crossflow scavenging

The process by which the burnt gases
escapes the cylinder is called

(A) Blow by gases
(B) Preignition
(C) Scavenging
(D) Detonation

In wired wheel the rim and hub is
connected with number of wires called

(A) Band (B) Strip
(C) Megh (D) Spokes

The mechanical breaking-up of the
liquid fuel into small particles is called

(A) Vaporization
(B) Carburization
(C) Abroization
(D) Atomization

152.

153.

154.

155.

156.

In the carburettor cylindrical air horn the
narrowed space is called

(A) Venturi

(B) Float

(C) Chokpower

(D) The indicated horse

In an engine the ratio between brake
horse power and indicated horse
power

(A) Mechanical efficiency
(B) Thermal efficiency
(C) Latent efficiency
(D) Brakes efficiency

Flooding in the carburettor is due to the
defect

(A) Much petrol in the tank
(B) Choke valve sticking
(C) Clogged fuel pipe

(D) Relief valve sticking

The measure of the resistance to flow or
the internal friction of an oil is called

(A) Cloud point
(B) Flash point
(C) Viscosity
(D) Fire point

The measure of the density of an oil is
called

(A) Specific gravity
(B) Adhesiveness
(C) Cloud point

(D) Chemical stability
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In two stroke petrol engines like scooters
and motorcycles the lubricating oil is
mixed into the petrol itself while filling
the petrol into the tank in a specified
ratio. This type of lubricating system is
called

(A) Splash system
(B) Pressure system
(C) Petroil system
(D) Dry sump system

The specific gravity of a fully charged
battery at 15°C is
(A) 1.290
(C) 1.110

(B) 1.200
(D) 1.580

In the lead acid battery the electrolyte
is the mixture of sulphuric acid and
distilled water with a ratio of

(A) 40:60
(B) 70:30
(C) 80:20
(D) 65:35

The specific gravity of electrolyte is done
by the use of

(A) Hydrometer
(B) Cell tester
(C) Voltmeter
(D) Ammeter

The purpose of ignition coil in the
automobile electrical system is

(A) To protect the condenser
(B) To store high current

(C) Step down the voltage
(D) Step up the voltage

162.

163.

164.

165.

166.

167.

The mechanism which is used to make
and break the primary circuit of the
ignition system is

(A) Condenser

(B) Contact breaker

(C) Distributor

(D) Ignition coil

The material of the spark plug shell is
(A) Porcelain (B) Steel
(C) Mica (D) Nickel

The type of clutch used in motor cycles
and scooters is

(A) Single plate
(B) Diaphragm
(C) Conical
(D) Multiplate

One of the main cause for the slipping
clutch is

(A) Loose engine support
(B) Worn bearing
(C) Worn linings
(D) Badely tuned engine

Under inflation causes the tyre wear
more on the

(A) Edges

(B) Side wall
(C) Lining wear
(D) Center

Over inflation causes the abnormal tyre
wear more on the

(A) Edges

(B) Side wall
(C) Lining wear
(D) Center
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In the internal expanding type of
mechanical brake the brake shoes are

expanded by the
(A) Lever (B) Pedal
(C) Cam (D) Air

The device which keeps the brake
shoes into position when the brakes are
not applied

(A) Cushion spring
(B) Retracting spring
(C) Coil spring
(D) Leaf spring

The speeds are recommended for
the fuel economy to the scooters and
auto-rickshaws is

(A) 65 km/hr.
(B) 70 km/hr.
(C) 60 km/hr.
(D) 40 km/hr.

The material of the gudgeon pin is
(A) Steel

(B) Castiron

(C) Nickel

(D) Zinc

Hydraulic brake system is based on
(A) Pascal's law
(B) Newton’s law
(C) Henry's law
(D) Charle’s law

In compression ignition engines the
compressed air temperature is

(A) 200°C (B) 1000°C
(C) 500°C (D) 100°C

A O T OO0 A

174.

175.

176.

177.

178.

The spark plug gap is adjusted as per
specifications with the help of

(A) Screw pitch gauge

(B) Dial gauge

(C) Bore gauge

(D) Spark-plug gap gauge

A kind of valve through which fuel
under high pressure is injected into the
combustion chamber is

(A) Spark plug
(B)
(©)
(D)

Injection pump
Carburettor
Injector

The type of anti-corrosion paste is
smeared on the battery terminals

(A) Graphite power
(B)
(C)
(D)

Petroleum jelly
Gasoline
Coolant

To collect the light rays and distribute
them outward in the form of a beam

(A) Projector
(B) Image mirror
(C) Reflector
(D) Separator

The device which avoids arcing at the
contact breaker point is

(A) Ignition coil
(B) Relay

(C) Distributor
(D) Condenser
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Spark plug having short insulator nose
are known as

(A) Ceramic spark plug
(B) Fouled spark plug
(C) Hot spark plug

(D) Cold spark plug

If heat absorbing surface of the insulator
nose of the spark plug is large due to
long nose, such spark plug is known as

(A) Hot spark plug

(B) Cold spark plug

(C) Fouled spark plug
(D) Ceramic spark plug

The device which provides various
leverage to the drive wheels is known as

(A) Clutch

(B) Sprocket
(C) Wheel hub
(D) Gear box

A packing placed between two metal
surfaces to act as a seal is called as

(A) Cap washer

(B) Plate washer
(C) Gasket

(D) Spring washer

A seal placed around a rotating shaft
in order to prevent the leakage of oil is
called as

(A) Oil seal
(B) Glow seal
(C) Washer
(D) Gasket

185.

186.

187.

188.

189.

190.
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184.

Toinstall piston in the cylinder, compress
as the rings in their grooves so that they
will enter the cylinder, this is done by

(A) Piston ring groove cleaner
(B) Piston ring filer

(C) Piston ring expander

(D) Piston ring compressor

The brakedown of protective lubricating
oil film on the cylinder wall causes

(A) Shroud (B) Scuffing
(C) Spline (D) Strut

The function of the compression ring is
(A) Scuffing the compression chamber
(B) Strut the compression chamber

(C) Synchronize the compression

chamber
(D) Sealing the combustion chamber

To permit assembly to the piston all the
piston rings are made

(A) Strut (B) Spline
(C) Stroke (D) Split

In the piston the bands left between the
grooves is known as

(A) Crown (B) Land
(C) Skirt (D) Boss

The part of the engine piston below the
ring is called
(A) Dam
(C) Crown

(B) Groove
(D) Skirt

After reboring the cylinder size the wall
finish are completed by means of

(A) Honing (B) Curing
(C) Sleeving (D) Coling
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One of the main cause for the engine
to stall

(A) Float punctured

(B) Defective gasket

(C) Wornout

(D) Too low idle speed

The speed of the engine runs at low
speed and the throttle is closed

(A) Idling speed
(B) Normal speed
(C) High speed
(D) Medium speed

In olden days for motor cycles during
starting to cause flooding of the
carburettor is done by

(A) Throttle
(B) Check valve
(C) Float valve
(D) Ticklers

The rapid burning of the air-fuel mixture
in the cylinder is called

(A) Compression
(B) Carburation
(C) Closed crankcase
(D) Combustion

In the carburettor venturi tube, which is
narrow at the center, the velocity of air
passing is

(A) Smaller

(B) Reduced

(C) Bigger

(D) Greater

196.

197,

198.

199.

200.

OO 0O

In the horn circuit, high powered
horns that draw large currents make it
necessary to use a

(A) Rectifier
(B) Choke
(C) Capacitor
(D) Relay

Dip stick is a graduated stick for
measuring

(A) Oil levels

(B) Type of ail

(C) Oil additives

(D) Depth of crankcase

A device for measuring and indicating
the speed of the vehicle

(A) Odometer
(B) Ammeter
(C) Dynamometer
(D) Speedometer

The distance from bottom dead center
to top dead center in an engine cylinder
travelled by the piston is called

(A) Stroke
(B) Bore

(C) Taper
(D) Ovality

The type of connecting rod used in the
motor cycles and scooters engines

(A) Single piece
(B) With cap

(C) Small end split
(D) Big end split
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3.

14.

155

17.

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®0O0

Wrang Method

@00

Wrong Methed

O®@00

Correct Method
CeQ0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each

question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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